BIC

5x10°

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

2x108

108

2x10°

5

10

10 100

1

10*

1000

rm055 2/(393078 —5040)=0.948
F T T T T f
: BIC 432924 38 ABIC 0.000 AlogP 0.0000
I : x* 368000.28 Ax? 0.000 AlogP 0.0000 ]
L Z ]
e : ]
[ e — )T
_______________ (Petireliow. crrewr-ival ettt R
I ABIC —177655 —436.1 | x
i Mx* —177655 —1544 |
4954 4954 5040
A ACs ; ACSF
1 ] 1 ] 1 ] 1 ] 1 ] 1 ]
20 40 60 80 100 120
120 iterations
rm055 2/(393078 —~5040)=0.948
E T T T T
3 , BIC 432924 38 ABIC 0.000 AlogP 0.0000 :
A S % 368000.28 'Ax* 0.000 AlogP "0.0000 §
SR E
120
Fe2 19% 2260 km/s
rm055 BLR 4700 NLR 900 km/s
F T T T T T T T T T 7
- - - - e e = — _IBIR
. n '
_&' S—= - = - = = - = = - = J. ';l' S—= - = - == - = = - = = "= "= == =" == - == - == ~_=— "= =" '_-—_ NLR
f | |_|r| f
[ | ] Fel
|
o 4954 I- 4954 o so40 E
F A || ACs ; ACgF ]
[ . | M N . | . | . | . i
20 40 60 80 100 120

120 iterations

kdh1 12-0ct-2021 18:47



